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38772−0.10
43419−0.13
42882−0.13
46301−0.14
38186−0.15
44088−0.15
49121−0.18
49318−0.24
49591−0.27
50362−0.28
38016−0.36
41418−0.45
29532−0.47
53961−0.49
39797−0.54
47528−0.58

3730−0.61
41510−0.63
38886−0.77
38149−0.79
48697−0.79
48169−0.85
14403−0.87
49145−0.88
40538−0.89
47888−0.89
46177−0.92
25769−1.00
46381−1.42
39556−1.73
49150−1.85
33641−1.94
40744−2.13
48106−2.21
49984−2.23
33457−2.25
49794−2.46
48511−2.77
49424−2.83
44394−2.96
49326−3.21

log10(P) upstream meme1 2 log10(P.clust)=−1.09; 42 seqs; 42 uniq
c(0.5, 2.5)
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